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Question Number : 1 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Population ageing is due to out-migration of vounger population, decreased fertilitv and
increased ...................
a. Death Rate
b. Life Expectancy

c. Mortality
d. None ofthe above

Options:
1.1
22
3.3



4. 4

Question Number : 2 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Rural Society is characterized by two important demographic variables- first, small size
population and secondis ..............................7

a. Ageing population

b. Lower Fertility Rate

c. Density of settlements/rural societv/village

d. High birth rate
Options:
1.1
z Z
]
4. 4

Question Number : 3 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who has proposed wear and tear theory of ageing?
a. John Graunt
b. Hippocrates
c. August Weisman

d. None of the above
Options:
1.1
Z 2
2=
4. 4

Question Number : 4 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Median age of a population rises because of ...

a. Increase of life expectancy and decline in birth rate
b. Decline in life expectancy and increase of birth rate
c. Decrease of mortality and life expectancy
d. Increasein mortalitv and life expectancy
e. Noneofthe above

Options:

1.1

2 2

33

4.4

o 5

Question Number : 5 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Which of these is true of Indian tribal societv?

a. Tribal societv is autocratic
b. Itismade up of small nuclear families living alone.
c. Itisnot centred on agriculture.
d. Tribal societv has subsistence economyv.
Options:
1.1
Z 2
>3
4.4

Question Number : 6 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The concept of Age -friendly communities was proposed by which of the following

organization?
a. UNFPA
b. WHO
c. UNO
d. None ofthe above
Options:
1.1
22
33
4.4

Question Number : 7 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following is the most basic and traditional institution for the care of the aged
person?

a. Home
b. Old Age Homes
c. Orphanage
d. Ashram/hermitage
e. Noneof the above
Options:
1.1
2. 2
3.3
4.4
5 5

Question Number : 8 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The phrase Corporate Social Responsibility (CSE) found its genesis in this book where the
author attempted to answer the question of “What responsibilities to societv mav businessmen
reasonablv be expected to assume?

a. Howard R. Bowen (1933) book Social Responsibilities of the Businessman.

b. Jr. RP. Gephart(1991), Multiple Methods for Tracking Corporate Social
Performance: Insights From A Study Of Major Industrial Accidents.

c. A. B. Carroll(1991). The pvramid of corporate social responsibility: Toward the
moral management of organizational stakeholders.

d. Adam Smith (1759), The Theory of Moral Sentiments.
Options:
1.1
22
33
4 4

Question Number : 9 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In India, took the lead 1n 1980 by incorporating a social responsibility clause in its article of
association, and by subjecting itself to social audit and to get it published.

a. SAIL
b. GAIL
c. TISCO
d. ONGC

Options:

1.1

22

33

4 4

Question Number : 10 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is true for C5R.?
{A)Institutions and individuals can change their interpretation of CSE in response
to changing circumstances.
(B) Different cultures emphasize different aspects of CSE.

{C)CSE. is sociallv constructed in a specific context.
(D) All of the above.

Options:
1.1
2.2
332
4, 4

Question Number : 11 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Sharp (2006) emphasises that a critical understanding of CSE. will need a combination of-
(A)Historical particularism, Case Studies and Statistical method.
(B) Statistical method, Multisited ethnographv and oral tradition.
(C) Discourse analysis, Multisited ethnographv and Participant observation.
(D)yQuantitative evaluations of firms and localised ethnographies.

Options:
1.1
22
3.3
4. 4

Question Number : 12 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Companies Act, 2013 states that companies with an annual turnover of Es 1,000 crore and more,
or a net worth of 500 crore and more, or a net profit of five crore and more, should spend at least
%o of their average net profit in the previous three vears on CSE activities.

(A)2%
(B) 5%
(C)4%
(D)3%

Options:

1.1

2 2

3.3

4. 4

Question Number : 13 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is true according to the Companies Act 20137

(A)Only CSR activities undertaken in India will be taken into consideration, as
profits are to be calculated excluding profits arising from branches outside India.

(B) Surplus arising out of CSR activities will have to be reinvested into CSR
initiatives, and this will be over and above the 2% figure.

(CYA CSE committee will be responsible for preparing a detailed plan on CSR
activities, including the expenditure, the tvpe of activities, roles and
responsibilities of various stakeholders and a monitoring mechanism for such

activities.
(D) All of the above
Options:
1.1
2.2
2=

4. 4



Question Number : 14 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CSR. is govemed by this clause 135 of the Companies Act, 2013.
(A)Clause 122
(B) Clause 135
(C) Clause 351
(D) Clause 185

Options:
1.1
2.2
332
4, 4

Question Number : 15 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Annual CSR Tracker for 2017 by CII (Confederation of Indian Industry) reflects that maximum
CSR spends were under the following heads (for the year)-

(A) Environment, Gender equality

(B) National henitage, Sports development

(C) Health and sanitation, Education and skill development.

(D) Rural Development, Adolescent Health

Options:
1.1
22
332
4, 4

Question Number : 16 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who has reflected on these methodological nuance of studving CSE- “Definitional, conceptual,
and methodological complexity has made cross-cultural, empirical studies rather difficult to
conduct. Instead, researchers have tended to focus on conceptual pieces, localized qualitative
(1.e., case) studies, or quantitative evaluations of firms within a single country. Multilevel and
multi-method studies are noticeably missing, despite an overt academic call for a greater
diversity of methods to capture the range of interests in the CSR. field”

a. Howard R. Bowen
b. Jr. R P. Gephart
c. A B Carroll
d. Adam Smith
Options:
1.1
2.2
3.3
4.4

Question Number : 17 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which were the years m wlich ‘The Mimistty of Corporate Affairs’ released Voluntary
Guideline for Corporate Social Responsibility before the final enactment of The Companies Act.
2013.

a. 2009, 2011
b. 1978, 1995
c. 2000, 2010
d. 2005, 2008

Options:

1.1

2 2

332

4 4

Question Number : 18 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is Biometrics?

(A) Understanding nature of an individual

(B) Measurement of body parts of an individual

{C) Establishing the automatic identity of an individual
(D)) Determining personalitv traits of an individual

Options:
1.1
22
332
4, 4

Question Number : 19 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The extracted feature set of a biometric trait is known as

(A) Identifier
(B) Template
(C) Extractor
(D) Indicator

Options:

1.1

22

33

4. 4

Question Number : 20 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which module acts as storage of Biometric device?
(A) Sensor module

(B) Extraction module
{C) Database module
(D) Matching module

Options:



1.1
22
3.3
4. 4

Question Number : 21 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Retina recognition seeks to identify an individual by making the comparison of
(A) Colour of retina
(B) Diameter of retina
(C) Pattems of blood vessels in the back of human eve
(D) Pattermns ofridges and vallevs in the retina

Options:
1.1
22
33
4. 4

Question Number : 22 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Signature and Iris are:
(A) Both Behavioural Biometrics
(B) Both Physical Biometrics
(C) Physical and Behavioural Biometrics
(D) Behavioural and Physical Biometrics

Options:
1.1
22
33
4. 4

Question Number : 23 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The fraction of impostor scores exceeding the threshold ) 1s defined as:
(A) False matching rate
(B) Genuine matching rate
(C) False reject rate
(D) False accept rate

Options:
1.1
2.2
332
4, 4

Question Number : 24 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Out of the following, which one 1s world’s largest biometric ID system?
(A) Aadhar recognition
(B) Iris recognition immigration svstem (IRIS)
(C) Integrated automated fingerprint identification system
(D) Combined DNA index system (CODIS)

Options:
1.1
22
332
4, 4

Question Number : 25 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who made an attempt to make an ecological statement about IKS. defining IKS as a society’s
connection to their surroundings and environment; it can also be interpreted to be a person’s
connection to their culture and society.
(A) Woodley (1991)
(B)  Bebbington (1991)
(C)  Genest(1978)
(D) Mansuri (1999)
Options:
1.1
z Zz
3.3

4. 4

Question Number : 26 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How the Indigenous Knowledge (IK) is transferred?

(A)Written
(B)Oral
(C)Both
(D)None of the above
Options:
1.1
2 2
33
4.4

Question Number : 27 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The terms traditional knowledge, indigenous knowledge and local knowledge generally refer

(A)to knowledge systems embedded in the cultural taditions of regional, indigenous, or
local communities.

(B)to knowledge systems embedded in the cultural raditions of regional communities only

(C)to knowledge systems embedded in the economic traditions of regional. indigenous. or
local communities

(D)to knowledge systems embedded in the social raditions of indigenous communities only



Options:
1.1
2.2
332
4, 4

Question Number : 28 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who opmed that with the advent of globalization many subsistence societies are fusing modern
technologies with their traditional practices

(A)Glade in 1992 and Bebbington in 1991
(B)Banuri and Apftel-Marglin, 1993
(C)Fields (1991) and Norton (1998)
(D)Howes and Chambers, 1980

Options:
1.1
2 2
3.3
4 4

Question Number : 29 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which tribe 1s one of the 13 particularly vulnerable tribal groups (PVTG) of Odisha

(A)Juang
(B) Munda
(C)Jarawas
(D) Onges

Options:

1.1

2.2

3.3

4.4

Question Number : 30 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which is the super natural causative agents of diseases?

(A)evileye
(B) Accident
(C) Diarrheas
(D) Cough and cold
Options:
1.1
22
z =

4. 4



Question Number : 31 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Medicine men among the Juangs are locally referred as

(A)Baidyas
(B)Raudia
(C)Doctor
(D)Gunia

Options:

1.1

22

5.3

4. 4

Question Number : 32 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What percentage of Tribal population in India 1s of its total population (2011 Census)

(A)8.2%
(B) 10%
(C)9.5%
(D) 12%

Options:

1.1

2 2

332

4 4

Question Number : 33 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The study on ethno medicine ranges from paleo-pathology to recent studies within the sub field
of medical anthropology 1s stated by:

(A)Kleinman: 1985

(B) Woodley (1991)
(C)Bebbington (1991)
(D) Genest (1978)

Options:

1.1

2.2

3.3

4. 4

Question Number : 34 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What 1s environmental possiblism?
(A)Environment is the only factor shaping culture.
(B) Environment does not shape culture.
(C)Environment is one of the factors shaping culture.
(D)Environment and culture are not linked.

Options:
1.1
2 2
3.3
4 4

Question Number : 35 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which one of the following is not found in Guha’sfivefold scheme on social ecology?

(A)Polity
(B) Economy
(C) Psychology
(D) Social structure
Options:
1.1
22
3.3
4 4

Question Number : 36 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who are eco system people?
(A) The displaced peasants and tribals
(B) The upper and middle class
(C) Those dependent on nature to meet their need
(D) Those who are not linked with environment

Options:
1.1
2.z
>3
4 4

Question Number : 37 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What 1s the percentage of omnivores population in India?
(A)50%
(B)17%
(C)33%
(D)20%

Options:
1.1



> 2
2.3
4. 4

Question Number : 38 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is not a greenhouse gas ?

(A)CO02
(B) 02
(C)CH2
(D)CFC

Options:

1.1

2 2

3.3

4 4

Question Number : 39 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following environment conference year 1s incorrect?
(A)Paris 2016
(B)Bali 2007
(C) Kyoto 1997
(D)R10 1992
Options:
1.1
2.2
3.3
4. 4

Question Number : 40 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which among the following i1s Gidden’s mam suggestion to limit climate change?

(A)Polluter pay
(B) Politician pay
(C) Stopping of Cold war
(D) Stopping of green house gas emission
Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following is not the advice to policy makers given by Giddens?
(A)People should realise that Climate change 1s problematic
(B) Avoid making political capital out of global warming
(C) Avoid cold war
(D) Set up detailed risk management procedure.

Options:
1.1
22
33
4. 4

Question Number : 42 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is not a principle of Green party?
(A)Ecological wisdom

(B) Social Justice
(C) Diversity
(D) Participant observation
Options:
1.1
2. 2
3.2
4 4

Question Number : 43 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Which among the following 1s not a factor promoting sustainable development?
(A)Integration of conservation and Development
(B) Satisfaction of basis becomes needs
(C) Maximum use of natural resources
(D)Mass awareness
Options:
1.1

2 2z
2.3
4. 4

Question Number : 44 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who coined the term ethnicity?
(A)F.Barth
(B) Karl Marx
(C) Vanden Berghe
(D)Max Weber

Options:
1.1



> 2
2.3
4. 4

Question Number : 45 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The word ethnos is found in which language?

(A)French
(B) Greek
(C)Hindi
(D)English

Options:

1.1

2.2

3.3

4 4

Question Number : 46 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

For Barth which of the following is the correct feature of ethic group?
(A)Belonging to same religion
(B) Biologically self-perpetuating
(C) Common communication and interaction
(D) Sharing of cultural values

Options:

1.1

2 2

33

4 4

Question Number : 47 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What 1s melting pot theory?

(A)Ideas are melted
(B) Materials are melted
(C) Metals are melted
(D) Cultural diversities are melted
Options:
1.1
2z
33
4. 4

Question Number : 48 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following about Kondh 1s not true?
(A) They are patrilineal
(B) They live in Odisha
(C) They are affected by Maoist
(D) They had meriah sacrifice earlier

Options:
1.1

2 2z
2.3
4. 4

Question Number : 49 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Kinanthropometry comprises of how many Greek words

(A)One
(B) Two
(C) Three
(D)Four

Options:

1.1

2 2

3.3

4 4

Question Number : 50 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Who are Panas?
(A)a Christian commumnity
(B) a Scheduled Caste community
(C) a Scheduled Tribe community
(D)a Muslhim community

Options:
1.1
2 2
332
4 4

Question Number : 51 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Why were Chhattisgarh tribals arrested?
(A)Suspecting them to be Maoist
(B) Suspecting them to be thieves
(C) Suspecting them to be cheating officials
(D)None of the above

Options:
1.1



> 2
2.3
4. 4

Question Number : 52 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following society Smith did not discuss?
(A)Plural Society
(B) Singular Society
(C) Homogenous Society
(D)Heterogeneous Society

Options:
1.1
22
3.3
4. 4

Question Number : 53 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Who said in plural society “people meet only 1n the market™?

(A)Karl Mark
(B) Max weber
(C)M.G. Smith
(D) Furnivall

Options:

1.1

2 2

33

4.4

Question Number : 54 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which approach on ethnicity talks about ethnicity leading to community closure?

(A)Modernist Approach
(B) Weberian Approach
(C) Primordialist Approach
(D) Pluralist Approach

Options:

1.1

2z

3=

4 4

Question Number : 55 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Who gave the concept of epistemic culture in STS?

(A) Steve Woolger
(B) Paul Rabinow
(C)Karin D. Knorr Cetina
(1)) Bruno Latour

Options:

1.1

2z

33

4.4

Question Number : 56 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who started the anthropology project named °“Asthma File™?

{A) Steve Woolger
(B)Kim Fortun
(C)Karin D Knorr Cetina
(D)Bruno Latour
Options:
1.1
2 2
3.3
4.4

Question Number : 57 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The acronym STS is often used for
(A) Science Technology and Society Studies
(B) Social Studies of Science and Technology
(C) Studies 1n Science and Technology
(D) All of these

Options:
1.1
2.z
3.3
4. 4

Question Number : 58 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Paleopathology means
(A) The study of disease of ancient men
(B) The study of disease of ancient men in relation to environment
(C) BothAandB
(D) None of the above

Options:



1.1
22
3.3
4. 4

Question Number : 59 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What 15 disease?
(A) Failure of natural physiological activities
(B) Result of pathogen or physiological disturbance
(C) Both Aand B
(D) All the above

Options:
1.1
22
3.3
4. 4

Question Number : 60 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Disease ecology studies at various levels which includes
(A)Micro-biology
(B)Micro-sociology
(C) Political ecology
(D) All of the above

Options:
1.1
2 2
332
4 4

Question Number : 61 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Behavioural scientists deal illness behavior from the perspective of
(A) Social Class
(B) Ethnic difference
(C)Both A and B
(D) None of the above

Options:
1.1
22
3.3
4. 4

Question Number : 62 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Disability Studies can draw its understandings from:

(A)Law
(B) Anthropology
(C) Politics
(D) All of the above
Options:
1.1
22
3.3
4.4

Question Number : 63 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Disability iz a

(A)Medical problem
(B) Social constraints
(C) Both of the above
(D) None of the above

Options:

1.1

Z 2

z =

4. 4

Question Number : 64 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Disability Studies emerged in the global north, rather than in the south. What were the reasons
for this

(A)Larger population

(B) Better access to facilities

(C) Presence of intersectional approaches

(D)Both 2 and 3

Options:
1.1
2 2
3.3
4 4

Question Number : 65 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Global South differs from Global north in terms of
(A)Embeddedness in social realities
(B) Presence of greater inequalities
(C) Later onset of Disabilities movement

(D) All of the Above



Options:
1.1
2.2
332
4, 4

Question Number : 66 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Anthropological understandings of disability could be used to explain
(A)Relations between individuals
(B) Idea of personhood and embodiment
(C) Ideas of citizenship
(D)Only 2 and 3
Options:
1.1
2z
33
4 4

Question Number : 67 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who said that Anthropometry of Sports or Kinanthropometry 1s a scientific discipline of
Biomechanics

(A)Betancourt
(B) Stewart
(C) Carter
(D)Ross

Options:

1.1

22

33

4 4

Question Number : 68 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ICSSPE stands for

(A) International community of sports science and physical Education
(B) International council of sports subject and physical Education
(C) International council of sports science and physical Education
(D) Indian council of sports science and physical Education

Options:

1.1

2 2

33

4 4



Question Number : 69 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Sport can also be viewed as a parallel ritual process marked by
(A)leisure time

(B) freedom
(C)Bothaandb
(D) None of the above
Options:
1.1
Z 2
3=
4, 4

Question Number : 70 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who have emphasized relative roles of heredity and environment in the final outcome of
phenotype and has suggested a greater role for genetic endowment.

(A)Morgan
(B) Shukla et.al
(C)Ross et al
(D) Mendle

Options:

1.1

2.2

3=

4. 4

Question Number : 71 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Ethnoarchaeology is close to the following subject:

(A) Anthropology
(B) History
(C) Potion "a” and ‘b’
(D)None of the above
Options:
1.1
2 2
3.3
4.4

Question Number : 72 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The early archaeological study had avoided to
{A) Collection of material remains
(B) Exploration
(C) Physical description of material remains
(D) Studying human behaviour in the past



Options:
1.1
2.2
332
4, 4

Question Number : 73 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which theory in ethnoarchaeology 1s not related with the theory of "Middle range™?

(A) Uniformitarianism

(B) Unilinear evolution of cultural change theory
(C) Multilinear evolution of cultural change theory
(D) All of the above

Options:
1.1
2.z
332
4, 4

Question Number : 74 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ethnoarchaeology 1s the scientific way of understanding cultural change
(A)Over a short period of time
(B) When earth was forming
(C) Past without human existence
(D)Over a long period of time

Options:
1.1
2 2
3.3
4. 4

Question Number : 75 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. Ethnoarchaeology has vast field of resources which do not include:
(A)Oral history
(B) Literary records of ethnography
(C)Field ethnographic data
(D)None of the above

Options:
1.1
2 2
332
4 4



Question Number : 76 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How many chromosomes do human have?

a. 46
b. 48
c. 34
d. 36

Options:

1.1

2.z

3.3

4. 4

Question Number : 77 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Genes are made up of

a DNA
b. ENA
c. Proteins
d. Enzymes

Options:

1.1

22

3 3

4 4

Question Number : 78 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A common test in research demands much priority on

(A) Reliability
(B) Usability
(C) Objectivity
D) All of the above
Options:
1.1
2 2
3.3
4.4

Question Number : 79 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following one do not included 1n Measures of Central Tendency

(A) Arithmetic Mean
(B) Median
(C) Mode
(D) Standard Deviation
Options:
1.1
2z
33
4.4

Question Number : 80 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Research methodology' refers to:
(A) The sampling technique.
(B) The tools that the researcher uses.

(C) The chain of association between the research question and the research

design.
(D) Qualitative methods.
Options:
1.1
2 2
332
4 4

Question Number : 81 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
What 15 the meaning of Data?
(A) Facts
(B) Truths
(C) Observation
(D) Marks obtained.

Options:
1.1
2.2
332
4, 4

Question Number : 82 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following 1s not a projective technique?
(A) Rorschach
(B)TAT.
(C) Sentence-Completion Test
(D) Maudsley Personality Inventory (IMPI).



Options:
1.1
2.2
332
4, 4

Question Number : 83 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The concept of *Anthropocene’ was coined by
(A) Antonio Gramsci
(B) Daniel Bell and Ulrnich Beck
(C) Karl Marxand Engels

(1)) Crutzen and Stoermer

Options:
1.1
2 2
3.3
4 4

Question Number : 84 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Mining Capitalismis authored by
a) Stuart Kirsch
b) Fabiana L1
c) Dinah Rajak
d) None

Options:
1.1
22
3.3
4. 4

Question Number : 85 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Multi-stakeholder and multisited ethnography of mining was advocated by
a) Ballard and Bank
b) Ricordo Godoy
c) June Nash
d) Stuart Kirsch

Options:
1.1

> 2
2.3
4. 4



Question Number : 86 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The book We eat the mines and mines eat us was written by

a) Fabianali
b) Alex Golub
c) Jessica Rolston Smith
d) June Nash
Options:
1.1
2 2
33
4 4

Question Number : 87 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Cyborg anthropology is related with
(A) Techno humanism
(B) Universalism
(C) Cyber Naturalism
(D)) Postcolonialism

Options:
1.1
22
332
4, 4

Question Number : 88 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Laboratory Life was co-authored by

(A)Bruno Latour
(B) James Clifford
{C) Kim Fortun
(D)Paul Rabinow

Options:

1.1

2. 2

3.2

4.4

Question Number : 89 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following 1s a hereditary disease?

(A) Rabies
(B) Colour blindness
(C) Polio
(D)) Small pox
Options:
1.1
22
33
4. 4

Question Number : 90 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Deficiency of Vitamin B complex causes

(A) Dermatitis
(B) Peliagra
(C) Rickets
(D) Scurvy

Options:

1.1

22

33

4. 4

Question Number : 91 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In hypermetropia, distinct image of the object forms
(A) Behind the retina
(B) In front of retina
(C) No image 1s formed
(D) Depends upon the age of the person

Options:
1.1
22
332
4 4

Question Number : 92 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The pelvis consists of number of bones are
(A) Three
(B) Four
(C) Five
(D) Six

Options:



1.1
22
3.3
4. 4

Question Number : 93 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which food has maximum biological value for proteins?

(A) Sovabean
(B) Egg
(C) Meat
(D) Fish
Options:
1.1
2 2
3.3
4.4

Question Number : 94 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The breathing rate 1n human beings 1s

(A) 36 per minute
(B) 12 to 20 per minute
(C) 72 per minute
(D) 20 to 30 per minute

Options:
1.1
2 2
3.3
4 4

Question Number : 95 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What 15 a stem cell?
(A) A cell that can make copies of itself AND make more specialized types of cell
(B) A cell that helps to fight against infections
(C) A cell that 1s specialized
(D)) A cell that can produce all the cell types of the body

Options:
1.1
2.z
>3
4. 4



Question Number : 96 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Differentiation potential of stem cells specifies

(A) Stochastic differentiation
(B) Asymmetric replication
(C) Potency
(D) Self-renewal

Options:

1.1

2.2

3=

4. 4

Question Number : 97 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Eesearchers who study humans by residing in particular societies and observing the behaviors of
the people are:

(A) Ethnographers
(B) Archaeologists
{C) Linguasts
(D) Paleoanthropologists
Options:
1.1
2 2
3.3
4.4

Question Number : 98 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A place where people lived and/or worked and where the physical evidence of their existence
can be or has been recovered 1s:

(A) A feature
(B) An ecofact
(C) An artifact
(I A site

Options:

1.1

22

>3

4.4

Question Number : 99 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which subfield of anthropology could be described as studving 'other people's garbage?'

(A) primatology
(B) archaeology

(C) paleoanthropology
(D) linguistics

Options:
1.1
22
332
4, 4

Question Number : 100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
stratigraphy 1s:
(A) the study of the earth's lavers
(B) the jutting forward of the lower face and jaw area

(C) a design etched into a rock face
(D) the study of ancient diseases

Options:
1.1
2 2
3.3
4 4



